
45Ar Z = 18 N = 27 adopted link ENSDF link

Based on ENSDF from Oct 2022, and mass evaluation from 2020

BE = 378.898 ( 0.001) MeV

Qbeta- = 6.845 ( 0.001) MeV

Energy T J+ J- J-other T1/2

-----------------------------------------------------------------------------------------------

45AR 1 | | | 0.000 5/2-,7/2- 1 21.48 S 15

45AR 2 | | | 0.542 1/2-,3/2- 2 0.34 NS +32-15

45AR 3 | | | 1.340 3

45AR 4 | | | 1.416 1/2-,3/2- 4

45AR 5 | | | 1.660 5

45AR 6 | | | 1.735 6

45AR 7 | | | 1.770 7

45AR 8 | | | 1.876 1/2-,3/2- 8

45AR 9 | | | 1.911 9

45AR 10 | | | 2.420 10

----------- -----------------

45AR 11 | | | 2.510 1/2-,3/2- 11

45AR 12 | | | 2.757 12

45AR 13 | | | 3.230 13

45AR 14 | | | 3.295 14

45AR 15 | | | 3.718 15

45AR 16 | | | 3.950 16

45AR 17 | | | 4.280 17

45AR 18 | | | 4.326 18

45AR 19 | | | 4.800 19

S-n = 5.169 ( 0.002)----------------------------------------------------------------------

45AR 20 | | | 5.773 20

----------- -----------------

S-p = 16.581 ( 0.086)----------------------------------------------------------------------

S-n = 5.169 ( 0.002)----------------------------------------------------------------------

S-2p = 32.153 ( 0.005)----------------------------------------------------------------------

S-2n = 13.904 ( 0.005)----------------------------------------------------------------------

S-alpha= 13.187 ( 0.004)----------------------------------------------------------------------

S+p = -12.932 ( 0.001)

S+n = -8.072 ( 0.002)

S+2p = -27.152 ( 0.002)

S+2n = -11.739 ( 0.001)

S+alpha = -13.954 ( 0.001)

gap p = 3.649 ( 0.086)

gap n = -2.903 ( 0.003)

gap 2p = 5.001 ( 0.005)
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http://www.nndc.bnl.gov/ensdf/getadopted.jsp?nuc=45Ar 
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gap 2n = 2.164 ( 0.005)

gap alpha = -0.767 ( 0.004)
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